UP Board Class 12 Hindi - 301 (HE) - 2025

| Time Allowed :3 Hours | Maximum Marks :80 | Total Questions :18 |

1. 3 H-IqC § FeF 18 [ & | TT [T & I T Aara & |

2. T TH I HIAESTE —~GS A AN EST |

3. | I H ITH Afeq 45 AgEaX TF T, 0 & | faw o fA&wrt &7 arer &
FU 3T 40 AT & I A9y |

4. @S T F JUATHS TF I M0 &, qfea et frfeg g e

5. TCHT & I [QT T (ST &7 A e 50 A |

6. TUATHNT 1 G & THI & Ia< {AW: fafeaT |

Q1. Choose the correct option to answer the following questions :
(a) "I fEaT oot Ao FEIT R :
(A) FTARST Hg

(B) TH&HIT fzqTe!
(C) g &=y,

(D) FET AR A

Correct Answer : (C) Y g REaY

Solution : Step 1: Understanding "3f<& fEaT 97 < s,

e FBaT T o i i TRaIT STia g Y sREeY + [T o, ST e i 99T
& JTTHE AT Fiepiad Tac Al &f Tal ailh § GaHd o |

Step 2 : Conclusion.

TaH femmr T 7 e qurt & afew o1y o vt i et & FEr a ww
I 9T | SHAT J&r 397 (C) & Idg aREaT |

Final Answer :

The correct answer is (C) YT g &HEL.

To identify the correct author for a work, look for the specific themes or cultural context
mentioned in the title.




(b) v AT F e TR A =T | :

(A) 'Wl‘\ 1
(B) |3m(_ Tl-v
(C) TR
(D) |HTH

Correct Answer : (B) ATCHRYT'

Solution : Step 1: Understanding "SATCH&RYT'.
HATHFIT' U ATHRITH S =T &, A @& T T SiaeT 37 9 & STaar &

T AT R |
Step 2 : Conclusion.

THH VT T 9F & a0 H o@d AT AThTa A [qaT & Gr=T 69T | s9faT J&r
ITY (B) § 'SATHSHT |

Final Answer :

‘The correct answer is (B) "ATCHSRYT . ‘

Look for personal reflections and experiences in autobiographies and memoirs when
identifying works related to "ATCHRYT'.

(c) 'd=TaT" G fFq AT AR EATR

(A) HETHT 9T
(B) g 9
(C) A==

(D) gREsr o 9=

Correct Answer : (B) ﬂ'ﬁq_cfﬂ???q_d'

Solution : Step 1: Understanding '§
gqlqﬂ qiaqeeaT 9 & &I =11 %’ e JTfHs ST Aiegias Taidl & JTsTT &
AT AT &l e (AT a7 7 |

Step 2 : Conclusion.

g FiadT @8 WA GHNT i AFE AT AT GiEhiaad gfEh0r #f 9T 8 | $9faQ
H&I 397 (B) & gHqEHET 4 |




Final Answer :

The correct answer is (B) A& 9.

In poetry collections, look for the author's signature themes and style to help identify
their work.

(d) 'fervga FaEF AT 8

(A)@lliﬂcﬂl@ll 1A

(B) STHIRT TTETE
(C) gfaqese da
(D) ITARST g

Correct Answer : (A) I [ATET TH

Solution : Step 1: Understanding '
VR LN @wﬁ?mww% ST o gfE T F 9Yg & | T AEd

g AET T &

Step 2: Conclusion.
T A H GTHE AT Aehide qodi @ ([HYET & | SAAT gar 397 (A) & a9 TAEr
H |

Final Answer :

The correct answer is (A) T A &7 T

When identifying literary works, refer to the theme and historical context of the piece.

(e) HETTHT TTTYT i AT &

(i) =rfa=mor A faeasr
(ii) FTS T TIAT

(i) STTaT TEETeT
(iv) i o

Correct Answer : (ii) &3 &l GIT



Solution : Step 1 : Understanding '&T& &l 99T

IS T TIAT HETHT TTET 9T ATITRA U FTeT =547 &, [STE T & 997 27 396
framr frgaE & fagearfr g g

Step 2 : Conclusion.

THIAT qET 3T (i) & 'HS FT T |

Final Answer :

‘The correct answer is (ii) TS &l 9T,

When identifying works based on historical figures, focus on their main ideas and the
themes of their times.

Q. No. 2 (i) '=afeae o & TER &
(i) SrET

(i) TCHT AR

(iii) & 9T

(iv) femam=r

Correct Answer : (ii) T0ET 5T

Solution : The correct answer is (ii) TXHT H&eT. TLHT H&T was a prominent figure associa-
ted with a particular movement or school of thought that represents individualistic tendencies,
fitting the question context. The other options are irrelevant to this context.

Focus on the prominent figures and their contribution to philosophical or ideological
movements when solving questions of this nature.

Q. No. (ii) '=afHa® TIfaa & TER g
(i) SeXETT

(ii) TET AR

(iii) W& T3

(iv) fa=T=r

Correct Answer : (ii) :R'Fﬁ‘HET*I'



Solution : The correct answer is (ii) TCHT A&, ALAT 5 was a prominent figure associa-
ted with a particular movement or school of thought that represents individualistic tendencies,
fitting the question context. The other options are irrelevant to this context.

Focus on the prominent figures and their contribution to philosophical or ideological
movements when solving questions of this nature.

Q. No. (iii) T T ATTHRIA &

(i) SRqEa =14
(i) g

(iii) |

(iv) ARG

Correct Answer : (iii) @

Solution : The correct answer is (iii) |Tehd . FTehd" is an epic poem written by the renowned
poet T&TedT aAT. This work is an integral part of Indian literature and reflects the classical
Mahakavya tradition, which aligns with the question on "X &l HalhlT "

When dealing with questions on Indian literature, focus on works associated with the cla-
ssical tradition. Works like "|Tehd" are pivotal in understanding India's literary heritage.

Q. iv. TETTETE & faivar TEr &
(i) =tfer \rgaRar

(i) JEAT AT fRTATA H qq T
(iii) 'TEAT' FT T HF FfqAT &
(iv) A Tehea & T

Correct Answer : (iii) T&AT' &I TG & Hiaar g

Solution : TITTATE &I (qUIYAT H T&AT &l FG( A&l AT, il T5 Q9T &7 T fRer
faver & fFeT g7 =T T & ST A5l 8 | I8 (99 €Y A=, Afeed i
IATT AT SET o T UF 15 gL T hfeIT aar e |




TANER H Uh GRRcHE GIERIU &, ST ST & 8¢ Tae] § A9 dT AT ATcH aamre
FrTGETEAT R |

Q. v. 'TTAT' H I A Hfqar s

(i) HETEAT ITHeT

(ii) FTeT =T I
(iii) FAaTHET 9
(iv) o T !

Correct Answer : (ii) §TXeT IUT T

Solution : T8 FfGaT TEAT' & T T HGAT A&l &, T HEIAT IO ' &7 =TT
AT & TS 3T AFAFAT & T TNTEFRAT FT THE FLAT &, AT ITHRT ST GHT T

TEAT RN TR & AU RAT R |

‘ TP ST I T SfadTE TEIETE AT FGH H 98T & (AT Q0T ar & | \

Q3. Answer the following questions based on the given passage :

Passage :

i &1 (FETeqor & & [T T FET |, 98 3T 1T & & | 396 Hifas &7, Jied A g8t
& T EHYT BHNT AEYT& AW 7 | T & ToTar &0 & O 8x foa Tfas
SINTES &I &, Ia-T &7 §HNT TEXATIT ST il SHTaT &1 & | T8 TAT 99 3899
T FEQUT AT Faa =it i ST & | ST ITSIaTer AT & 9 TRl S[er a7 (Aot
TEAT & | IRIETaT &l 5Ts AT H e Teir 1977 3a-T &7 TS JTai &7 3T Ieq+ 8T |
TATAT AT & Wifdsd E@re dif TSN 00T AT, IqaT GaZar, ITFTRTEr A Afgar
T TEIAT G997 7 |

(a) ITTH TATH & TS A AGH & ATH (e :

Solution :
T § AT & A5cd, §94 ide S@re, 3T 8T & I H $96 TR I [A9r
[T AT & | e o T¥AT & AEcd & AT 50 S96 HIfdd & A gANT ST &

IV H TAET & | @H & A : g AHeAET

6



Final Answer :

T AT A TEA HHeA=T 7 |

When asked to identify an author, focus on understanding the theme and style of writing
in the passage to determine who the author might be.

(b) 7 & T A reror free fRaT R ik ag &e @R 2

Solution :

T eI e A TaT | AT R | IR (R T STTe AT i gh e Hifad |rea
& T STRTERAT 9% ST ARG (AT & | T8 Fraqor 3= &t & Se1 31 =T & | Final

Answer :

T &7 M e ST ET A AT AT g R a e H a |

To answer such questions, focus on key words in the passage that give insight into the
context, such as "SI &adT," “THas ETe4," and the author's name.

(c) TXAT & G F §ART A¥IH AW ™18 ?

Solution :

TAT F HaT T §HNT AGITF A 9T I &l I8 JedATdl, 396 Hifas sre, Y 394
TIATAT & G A TG I aFT AR T | 2T il i G¥==T 7 Qe Tt &

[ [aN

ST T %1 o AT-8T T8 A5 T dl GHAT SN fo+Herr & | Final Answer :

TAT F G T §HART AGITF A 6 WHde ST 3 qOd{ad UM &l G- 3 T8I+ T

When analyzing questions on the environment, always focus on its relationship with hu-
man responsibility, sustainability, and the role of nature in our daily lives.




(d) IR 3T ereaTioRd wreal & oy fefeT

Solution :

- QTR g IreT Wiae ST & Gatad &, ST f TAT, I i | - Hameamioma - ;
T ITeT JATCHT, ¥, T AT cHhdT § GaT9d &, ST (& ST e STRTERaT S qT a6
ﬁWﬁWﬁH@ﬁTé‘ | Final Answer :

qrfere : WiHae, srsaTicas : SATCHT 9T &9 & 9o |

When answering questions about word meanings, always identify the contextual use of
the word in the passage or sentence.

OR

Q. 3. (i) 7T 7T & 9T [ T & G Taar s ?

Solution : ST & THNT H 3= ATSAT & a1 [ahqer Waw &7 @99 &[T & | 99 &
fafier it & 9 I 98T, M -IEE AT GEYE ST 9 &6T &, ST 999 &
TR H FITETT T & |

‘ =g I & [T Tedd T8c] & FI% €T § FHAMT gea o & | \

(i) I FHFT FREH BT R 2

Solution : ITAH TFUIT H FHEI, ATCHIRIYAT, AT, AT A8 THE & | T 07 Afdea
T TRShT ¥ & SN qHNT | It i faam & flewm & anes aa §

‘ A=Y, ITU & [T Tl T8c] Al I €T F GHHMT A5caq0 & | \
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(iii) TS FF T fFe 0T IeT & | 2

Solution : WXETE &I TXGIT AHAIE T FHAR TLITET, FAFATT SATEL AT AT ATTE-
FHAT &l FHT H ICTA BT & | ST ANT AT I ATTHAT & TATT [FS(T AT Rl I HRAT

TOE, G ER dedr g |

‘ A=Y, ITU & [T Tl T8c] Al I €T F GHHMT A5ca 0 & | \

(iv) FTE AT F T T HAT AR 2

Solution : AT F T FIH Taol IH F AT AT AMRT AL T Fl {91 7 F7H7 I-
S ATET | TG 3 TURICHE RIAATal & & e AT TATTH T & (@ qehaT

el

‘ A=Y, ITU & [T Tl T8] Al I €T F GHHMT A a0 & | \

(v) T faare i T | =T ?

Solution : T fadmd U& LA THRAT & [T+ qmTioH, AT 3T qiepiasn
QT STTHer & | I8 foreT, Saree, gEmer &, 37 SITE & Juradr § G917 & AT

IO AT Smar g |

‘ =, I [0 el Tae] Al S0 €7 & GHHT HEea o & | \

Q4. Feafafaa T=arier O sraTa =T & I fa|au-—
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T FHUE BT AT,
ST &7 =TT &l A |
THT FT a8 9 (a9,
FT HT IHRN TV |

(i) TEQT TRITIT & HiaaT &7 IV AL R AT A ([AMGT |
(ii) g AHaeTa fea Fgar e 2

(iii) =ATATA FT A AT R ?

(iv) SHTFT AT fq= & 2

(v) ®fT /8 T AT AT aTq wLAT | ?

Solution :

(i) g T TS FETaAT &r faar & foam @ & | S985 969 317 99 § S @ JEr
AR TR & | INYH A7 & AT §96 iq GAR [(qalel Faar |

(i) FT T “TT T IT TSAT AT AR A AT FET &, W I g9 F I
FT OIS &TAT & ST GHIT & 1T FT AW Iarard & |

(iii) FT F FATAT “HATAT FT TA G 7 | G0 3 & o [q7 G0 & = g7 61
7T A AT EE WA fedraar e |

(iv) 397 &7 fa9T “Te” § | I $5¢ T 991 & 947 97 & YT I &l & 37 IqaT
e g wemaiRa &

(v) H T AT ETL QIR [ T AT FAT Ta AT AT | T8 TT8aT & (o A6 a1 a7taa
AT Y AT § T &l a9 & |

T AT ATET & A e~ & [ FHT T80 =T 9181 |

FfAT &7 T Ha9T I8 & 6 A6 A GA § 1T T 89T & 99 98 99 T

TR &7 | “GeT” & AT AT AN AHTEIT A T ar 7 |

OR

Q4.3 & Hid H & H9H
T &1 fawr — sitae fa=,
I &< fegr = v ar

T I SATEHT & T (|77

T AT &G ST H
TSI AT TG AT |

(i) TEQT TITI0 & HiadT &7 V6 U A & A (A |
(ii) 32 & S 5 H W™T R ST FET AT ?
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(iii) “FIT—gT &7 Fawr STra=r fa=ame & ffe =nr & T fear mar g 2
(iv) T TG T o A7 (@37 2
(V) AT &7 & 5T H T 3T 74T 2

Solution :

(i) T TS FIATIRT T & Afqar “Tasiia & [&GaT =T 8 | 95 7T @7 o @7
STrET &l =T ST Fasia i T g |

(i) “32 & A T & T ANTT § THT & &L aT—AFT | HIG T HET Rl G T
T AT AT &, T81 & A9 0T fqerar & |

(iii) “IIT—T &1 v Straer fa=me &1 or 9% & fof ama straer & 9o, 394 <o =i
YT & AT T ITHT [ BT E | k& T 7 Sa & Se9d T Y 39 A5 T 9 fa9r
BT AT |

(iv) TYT TG H T T AT IS0 &Y (€47 77 8 | 9607 A9 7 fo i e mat &
ATH | qTATaYor ST &7 38T & |

(v) T &L AT AT H TAS G AT ANHT 5T & | Hi G T qTc9d & fob G AT M
H HTST & A TG Ja=T AT 75 TEUT #T GIL T g |

FESIET dl T HIT A AaT-fa=ae F = rar e |

Ff AT AT T G 7 & (& 70 ST ST § AT Sa H T8 ST, T8 0T A
TaSIET AT @I BT & | TR ST I (HARL STTaT & Sl ST & |

Q5. freferfae 7 & e U oo T STaT-TV=T & §T, ITal Hicd Tl I {17 |
(ATTHTT ez HIAT 80 ITex)

(i) ITERT I SRATA

Solution : FTYET IV ITEATA &l ST ITL TWRI H FAT AT | T (§aT & TEg A=
A (I o | IR Hifeed T faarserede gfe &1 3 (T AT a7 7 fewm e
F | ITHRT THE FIOAT “HTA & AT, ST 3T FAT”, TIT “AIEAT & E@EIT”F |

ST AT H IR aeh, A =-Tcq S g% ¥ qTia e IRar Aasar & |

T HfAAT — RIS & HET, FIA AL HcAT, ATIET & FET
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qTE 7 — FTgad I00T AT AA=EAT A [ Arfgey & faforg anes & faw
TEEE |

(i) F-RATATH e

Solution : Fg ATATA (HIT “THTHT & TH 1906 H £ | T TEG MEIHT AT dTiaca-
FI T | I (T & T, AfdRar ST GATT-GH &6 a7 (61 adr & | Saaedr
ATRTAT H T ITHT TN TET | I T0HE HfAIT “ATCHEI T, “TrAd =L, 3 55,
AT E | JThT AT TS, TATET T TIUTETET 7 |

% FHadl — ATCHII, T [\FaqT, TS, AL

‘ FR ATATA (9T & et &7 arfafcas gied = Ty &r @ fear s | \

(iii) WA X[

Solution : FUTHYATY T &1 = 1921 H {5 { g | T A=AH ITHEhRT & €T
g & | S AT H O IRTHIOT S, Al St oY qHTeT T 9T e faeran
& | “HAT ATTA” ITaT FaTTd TG ST & | 377 T Haar “9wdr TREAT” 37
“T[AA & | 0] &7 ITYT F A=A el AT Ffdt & §ar I fHear |

T HTqAT — HAT AT, TAT TRHT, [T

‘ RO (0] o (&&T ST A1fg e H A= ARAT &l 99 W Tarad &l | \

Q5. Freferiae 7 | fehdT U i T ST -qV=T & U, Il ATl cqeh (qoryarsi &
IEE FIT | (TP s GHET 80 ITe)

(i) AfretreRor
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Solution : HRIEIVRIT I &7 T 1886 H HET (ITL TaIN) H £ | I “TEIH(T” Fegl
STTAT & | STl dfaareat & e i, TTaaTaadr S arETfes JaaT T e & | T @SErer
BT sfaar & s q9 T E | T Saat — “TRa-dar”, “GThd”, “STaesy a9 |
TSI dT dfaaraa 5 HTNT G 3 HTI9TeAT & |

ATfefcas faurard — Tsrw, UfagTias SaT, avet @SEer 9T

‘ T ST T @SATAT dwtadT &l TET TAT F ATSHT AT 4T | \

(i) FfAqueiesT ¥a

Solution : FHATET T & =7 1900 F ITES F F; | T FATATT HaFT H THE
& | ITr RfGATsit § THA-FIed, HIFAA HTGATY AT AFET HEVT dl AT TH arar
& | R AT § afa-aarr, e & arite A s & § | e St -

“Tead ,"{i\fl"l , TOHEAT, “SATahtda |

Arfafeaa faarvaTd — wafa o, grrare, TS

‘ U ST T IRl & a3 ST T HIHAA £8F ST Hal Jar s | \

(iii) g fauer e

Solution : FHHIT [TATST FRTAT & T=T 1896 F AT H 3T | T FTATATE v AT T
A sy BT Ffaar & WOAT & | 3T Sfgarsit 7 [9eE, A HeuT 27 sadyd]
ST T ﬁw%nwﬁﬁ?maﬁrwwﬁﬁﬁwiﬂww

“HATHHT”, “TRAT”, “FHHAT” |

arfafcas faervary - fag@Er &<, 90, @ 98 T I
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‘ T STr &1 [T Sfaar &1 “Hg™ ANTETET St JET ST & | \

Q6. “FHATHT &l &I AT “FATS” FEMT ol [T FATIE] & AT T THTET ST |
(ATIHTH Iz AT 80 IT+7)

(i) FHATHT T &

Solution : “FHATIT & B FEFT & HLT THIT FHNT il Sfed ¢ FASTa=E
AR & | 390 e T & o e e aTfie ey o IS A SiiaT &l 5as
FAT & | FEFT GHEIST T SIr=Te 3T Ee & Jieh [GeA &7 G203 adr & | 9" 9T

YT A TS & |

& docd — FTa=TE &l AT, AT Fraor, e Ja-

‘ T FEMT i et & f shafasam oiv Ts 9ot i Trfa 5 a5 | \

(ii) ATST

Solution : “ATET” FEFT H IXTHI AT &7 FUTY AW S&TI—HEY &7 faqeor faear §
FEFT & fe@mar W § o ATET Faer 9ERT &7 T8¢ afow At AT ATIHRT 7 i 0T
T\ TEH AT T AEcaThTeT, ST ST ITRETRE faate 39T AT o E | TNt gEe oY

IR

&7 docd — Wih & i, TaTia fqare, Tum feaer

‘ “ATST” FETT &0 (qETaT & ff = v ATes Rear F evw der & e & | \
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- r

“THATS e HEMT & T Tl AT ([aerarstl I TR SIAu | (T aaaT s —
HHT 80 97

Solution : “TTATEE” FEFT T THE TTAL T § | T8 U TOHIT a & S 78 deh 1
T STedT 8 | 395 fST5maT, S & oidh ST ST a=Te & | 98 90§ 59—
A faorT & qTaS[E & A81 AFAT | 3iqd: IqaT T AL Hadd § T9eA15e o 38l &
AT I ST a8 SITar g |

fawryaTd - g, srenfasmeT, TRerT, araer

‘ e &t IRaT 77 foamar & ff TRere =i sreafaame T &0 78 T8 goar & | \

Q7. FUTfed ESHIA & ATIN I [Fdl Tad @S & Tdh TH & Ia< a0 | (ATadmad
e —HAT 80 %)

(F) ATha” GSHIST S THIAT

Solution : TR I FT “HATehd” W& [EaT ATET AT AGW i & | THH THRAT
FT RIIAT AT IFHAT T IUTerT I & SR F e (RAT =T & | 39T fagryar
X, AT &7 ATTH Faor T @SETr HINT & 99dT & | 39 @eareT &
FIATT AIGT, FEUT 3T FAHETT & Agd G [G@rs aar g |

T (qorYaTy — H%0T, ST, T, JY {7

‘ “HTehe” WSHTA THHIT Al AT FERIT § T F ATAT AT AT & | \

HAYCT
“TITA@T” @SR & AT T I & AL Fl (G910 Farsy | EriaaaT s
T 80 31e%)

Solution : ATERETeT TGl &7 “TIHET” HShTT TG & qg AFHT T I IAEY
FAT & | SHH IHT & AAGAT & &, TITTTIOr TaT AT HEOTHAT AThed & €T H
fafaee fra TET & 13 T # v & AT AT o WRa R | IS & T SR S,
T, FEUTI AT FeI[qF & &F § G- AT & |
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) (aN LoVl o -
|%|§Iqalq —qIdl, lld, U, 1419 X4 al

‘ “TrF T H T T FRAT 93, AT 2T qFaar &7 AR e d #ear g | \

Q7. T & S WSH A & h¥HH il A faurydry fafaT |

Solution : “HeT T SIq” HSHISA AT FUH I A GcF Sl (9T I el & | T4
femmaT =T 7 fo sfe aRferfaat & T 9o 3l =1 & /0T 981 SIS AT IiE v | ETId
T TR H =T TG I8 @Sared ST & Geai-g A= A SHITAT dl JAETE Rl
& | TYT |, HTaY0T 3T ATI9ITeT & |

g fauraru — a7, 97T, =FEEEdar, IR 96

‘ Tg GSaeH (IAT aar & [ ofaa: 9 g S aT frar fawg g & | \

HAYCT

(ii) T & SNQ@ WSHA & AR T FAIET & IRy & fauvare fafew | @fusan
s GIHT 80 Ms1)

Solution : “HcT &l Sq” GSHIST H IS F IRAL AAE A THT & €T H IHLAT
&\ T g7 IRfefa & a7 ara 20T 97 &7 ITA= it Tl 3es TBY & | F =9, 9
A g5 TRAT & WA & | IR SaT GLIT AT & [ 997 A G &l qaig A &7 a=l
fae T T T e |

gﬁ:@'{ﬁ?ﬁﬁj%’ﬁﬂﬁm%%waﬁrqﬁﬁmﬂﬁwﬁwﬁmﬁ@m
|
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Q7. “fH&T” @ESHTH &l THE TATHA AT IR E 11T | AT Y HERT FSHTH & AT
I G SRS & T I AT TR0 ST | (TR 3res JHT 80 I+1)

(i) T e

Solution : “JfH&T” FSHIST & TATT AT ST A FHATS &l qreciaharat I -
TR & | SHH AT S(1a & oY, GaEATU AT ATqd Fod| & IR AT 8 | GSHTA il
FAT TaT-29T T a2al 7, 98 q0T fr 999910, a7 &7 Farg 3T AFEer
HeqT T TEE G A A

& 91U — oY, §4eT0, AfqshdT, G901 & aqeary

‘ T FSHT g8 Sa- & T 307 Afqa et fr Qe Iar e | \

(i) TCITT ITaX &T TRaE

Solution : ‘AT @SHIS T LU T AT AL HAATE & | IqH AFGT Ha-
AT, TN A AR & AT FET fG@Ts a7 ] | 98 SH di ST & G0 g0 A7
I I oo & F17 70T 7 | 396 TRAT H ATHIA, E9 AT AT I AR T E
5l

faeryaTu — Sevsierdar, F#aA ST, Ggviedr, AevaR

QT ITAY &7 TRAT TTed &l T8 G adT & & Sia= & S99 7 53 7Y =9 &0
qET IR |

Q7. “TTTTT” WEHTH &l THT [aOIYaTeit &7 I\ ST | STAT ST HSHT
& ATI ¥ S  AT9d & I TC TR STAT | (FATTHaH Ire8 JHT 80 I+7)

(i) T faevare

Solution : “TANTTHT” FSHIST AT HT H%A AN AT AR I AT & | 7T I &
ey T g7 femmar T faaia viferfagt 83 fder i s srant T8t sre
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FIFET | MTYT AT 7Y EUTRTET & | SHIeT T, SATCHa AT STa-—2 9= &l §a7
I e AT s |

g7 faervaru — &N, FAHAMET, ATTHTA, EIER

‘ T T8 TSI &dT & (o G Agar A0 A7 A ST & FEa g | \

(i) TIH FT IRAT

Solution : “TANTTY” HEHTA FT AT I& AT ATAT, AT I Fq A TS Afehed 7 |
77 faoda aRferfaat & ¥ 97 3T 9 &7 AN 9T & | 396 IRAL H SATeHad, 9-

EASITAAT AT SN i MTEAT S AAGAT & | ATIE & AT GHST dl 0T &ar & &
T &7 99 99 AW qAgH=ar T AN & |

faereaTy — @, FEsie, 9HE, EvEK]

TTTTAT & ATIH &5 J8 T &aT & (o AT 3T ST &1 ST & q€T AN YT
T

Q7. “AATH—F” FSHIA I T TEATHA AT TUA SITAT | 3T “AATh-F A HSHIA
& AT® A A ([qEvary [ w | (@rfasas ses §H4T 80 IT+7)

(i) T qE&Td

Solution : “HATH—FT” @SHISA H (AT & FUTY T AT il TRIITaTT &1 ATHS -
T [T TET ' | SHE SV, ST, AT SaT—SAE 9 il FeAT @ Al & | WS
T W FeATU A19d & AT, faaira TRferfaat & 87, T3 99T & ST 89
[ 7T It & ST E |

q%T 9eTU — §9Y, 0T, Hd AITAT, GHTST HedT0
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‘ “HIATR-G T ST H AT AL AT AT Al AN R ATAT D SHA & | \

(ii) T T TRAT

Solution : “TATH—-TT” HSHIS HT TFH TITI A, AT AT FAAS 7 | IHH ATHIA
A FEAIATT T TR VAT & | T& THIT o FeATIT AL SAEH o ITAT & (AT q8F qede
TEAT & | TS & TRaT H{ SHTST, ST 2 GHIT-H4T dl HTa-T S8 Feaar & |

faereaTy - SEYsiierar, 0T, 9H ST, HNr-aar

‘ “AATH-FT” AT ATIH T TV IAT & (o TET TG AT AT AN & TTATH & | \

Q7. “VTANGHAR” WSHIA &l {THE TeATHl & U I Il H HITAT | ITAT “I7T -
THHT” WSHIA & AT LTI & IR &l faurvary fafa | @rfasas sres dEr
80 Te%)

(i) T F&Te

Solution : “TEAUHHTL” WESHIS &l FIT IXFUGHT Fl ATAT-IAT & T2 qar A7 JiF
T SATHTRA & | T8 AT 379 ATAT-IAT il S aTe?T & T | e & & (e a9maw
TET AT TSIT S9CT & AT07 & "I a1 AT 4T | o & GHT Iq- A1ar-faar & dar &
T & & | FF TeAT Y- 31T ATg-fuq v & eAes e #ar g |

Hed ST — AT, F9 T AT, UG H g, Tte

‘ I8 GSaTA g (aErar & fh ag-fug sardraag 9 g | \

(ii) TICT FT TIRAT

Solution : “IXAUHHT” HShHTeT H TIVT FT TNAL U A1¥, T FAATTH T & &F 7
fafaea & | forer & 999 90 o § IaUgar & §og &r 1Al & | § ®euraar A7
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HAEAY T & | AT AT AT &I &7 TR TIST ATHT F & AT ILTUGHHT & 3
ATAT-FIET | & AT AT & | 396 IR & SEHERT, Saea9iadr S &80T & 707 fears
TTE |

faeryaTy — FaT, AT, HEOT, HaeA9odT, IAanIcd

‘ I AT TRAY F7 G & o T & gea qray T = F=ew M7 J1R T | \

Q8. Fafefaa dega erier &1 S ar BT 7 3ae Sty |
(F) I AT A

Solution : “EHaT ATHTTHTT TEAT AT | AHTTHTT & THAT FT TG TSTATIT & |
ST A T AT 8, TaT (ot T fTaT 8 | A =T & o7 7as7 wfwa = & rmar
& | AT B AT W, TR S a6 (a7 §1aT & | 9T g5 SATeH g e a7
FIET | ATHTTHTT &7 SIaT & qae g7 AT & |7

% Ha9 — ATCHTT= T & TherdT il il & |

‘ g IR & SATCHE Y ATHTH T F9TT TG+ il 0T aT & | \

Or

TS T AT

Solution : “HEHIEH T AETHIET ATAET ST &1 T AN H AT 9T | AT (a1
HEha & A [Gg o | TG ST A (9rafT I quT 19 § OO & | § Th J81
T AT TEHTF I | I=a i+ aWvET § g9d (&g fafaames @i &= & |
77 fefaeree vy & e faafaameat § 8 s & | ATea S S & JETHAT dif SaTher

g GETH e e =T 1

& T — HETAAT dfST ASHIET ATaa T, [rem §uia T T87d9d
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‘ & ITRIT90 &5 ATAGTT ST o STTaeT T ITeh [9TeqT &7 & FTE & ST Saar s | \

- r J

Q8. frafefiae st &1 @< afgd f&&r & stqae frfere |

(i) FerfaemET: S e FATTEATET: F&T O |
A & B G Ed=a AT 11

FETIT~T T A [Fwarear g gorar: |

ORIV T e St gayatad e 1|

Solution : §&3 : T8 Hd AT Siia= H (9 & ghadi A Harstt & T & &9 fvar

Bl
AAATE : T & AT AF (GATET AT S=JTA T eahal 8ar & | 99 A9 9q€ adr &

T g9 99 faear s | HaraTs & < @ fq9faa #dr g S wifa araw & adars |
T FaT qLa] T I&F I I FLAT &, AT a9 TI0ET & HedTor § @97 Ear s |

T G — JT &f ST GaTy Y AldhadedTor § fedr s |

‘ Tg " g4 [GETdT & & [Har T sMay g &y Iifa g dd & | \

OR

(i) TIRRTT T« fEataa |
ayurTty 7 faay faea= fe feaer )

Solution : G : I8 Heh [HaaT 3 TIRE #ir T5 T S S9AT & |

QAR : AT & I da9 WIGN & (AT &[T 9180 | 99 A ffw 7w I3var =i
fEd & T & @ a | T& a¥ 918 |7 f[Aqy, e & Feamu@iT &1 &7 J1€ @1 & A7
I BT AT & |

T WU — IR AW T Hawdr Siiae & A9 g |
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g Hidh &H O 2T & (& (Aaear &1 69 ITar A7 fa=1m 9 sraria g4 T
|

- -

QY. Fafafaa 7 & ff=sf & =T & IuC a&ha § &9 |
(F) T HaT FEF ST : I 2

Solution : TXITUET HAT HETCHT: TFHTE 2 STEI |

(&) FEHT (o e g 2

Solution : FEYFH IV Hedf S 3ATg: |

(IT) T {TNT ITATNT S AT ST ?

Solution : HERAHTIT ITHTYT ST ATHT ST |

() & =TT T T R ha=ata ?

Solution : SH{TE: TET: =T T T TaFAT |

Y - Tl d T & oY 96 Tl § g o § |

‘ Hehd TETOY (o G99 397 9ed 9 e, T8 37 I &7 & faw@=r I1fau | \

Q10. ETET ITIAT ‘U T dil TRATYT (e ISTEL0r AT | QA 3raT =1faqsr-
T AR Tl TRATST [Tt ITTET0r EINTT | GO 34T ‘FUSTAdT G &l TATIT
e 32180 ST |

CORG)

TRATYT (BT TF) : T&T (e & aruT, ETa-Ta 97 f6vdr & £46T 39+ 51dT &, 981 &1
T T AT ST & | JRTEAT 2 @ TSI qof S-S5, T qiof — §ToT &= S "

TRATNT (FE0T ) : TTET G, TTT 2T FEUT T WTa-T IcT &7, T8 H80 T Whe &ar g |
IS0 : T T&T §iar a= &, OF & faanr & |

(@) AART
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TRATYT (AT HARI) : T [T g 7 (/T 3770 & = § eger femmar siar &, ar
A AR &AT & | ISTELN : T8 qTeAdh ATTd FwaZH T Tl arar & |

TRATYT (rfaeeTd &) : I 9T a1 Fl AT I TGT-TGHT Hal 1T, ar ATaq9r-
I AR EIAT & | IRTEOT : “IHAT AT@T T AVEINT FHEL-GT T5 AT |

W a<

qﬁ‘ﬂTﬂT(ﬂ:@‘W) a?{q?h‘mld(ah N & e o e & M arqed gar s |
JRTEX : “TTHT-THT g=aTa &, &t ST afaat & 1"

TIRATT (Fusterar &) : Fusferdr = 7 Taell A7 sifaw dfF qoe & &1 S9H 919
it grar & | SSTEXOr : AT ST S9aT § &0, 8T 9T =1 | ST S 991 § 907, a5t =91
T | AT JaT I, Tar 396 T ||

T, AAFRN AT F% AT e cAH GIed & T 3T 5 |

‘ I o |9 TRTYT 37T ISTEY0r a1 G (o, THT 99T 3 [Her | \

Q11. fraferfaa & & fadt wa fawr 7w fehyr fofa |
(@) AR fRa™T dr g e

Solution : YT Td &Y [T 97 & | TG &l ATIRII FAE&AT @l W T 7 | fhe
T foreTr T, T, TR e SATIRTRA Y S ICITET Hod SET HEITe § I |
AT ATIAT & 1T, =TS A FeArs o7 fa=tfa=t 7 svor ¥ a8 9 T 7 |
fFE=T & TOT G & [0 G ATt @7 dal (@I T=aa=, @il ara= 2 3=a
g e Sava & 7 |

eI i e T=A &7 GHT &7 e &l AT 7 |

‘ e & T 9IT GAT W dir ST T &7 I E | \

(@) FTaartas e & fafeyw s
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Solution : ST a 3T H FITeIT FT I Faed TSI A& 1, e TR {T | | SFTaETa S
ForedT & T aEr 2 STIRTRE T I & & | TEE ATHRIIAT, RIS faahme
A IYTHAT AT T CATET AT R | T ST 497 J SZTaaTiae ferafr & faeae asmm
TR H GEIF & |

SATAETIIE FTeT S e &r savgsar s |

‘ HTEET I ForedT § SIS ST AT ATCH LT 93T | \

(IT) TATELIr G & R

Solution : TATEYIT TXETUT ST Ueh TTHIT AHEAT & | SHEAT HT ST ST THTRRIIT, qTET
I, TET Fl FeTs, THE S T F T RINT A TIE9EAT J 8 | T, A, G 30T
I R § AT Siae 9% g7 01T TS T&T & | SHERT AT JeR9, S<g, Hafl
T ITINT B FTASITERAT & §9IT 7 |

=g, TATa &1 O (A &l ST 7 |

‘ TEENUT &l AT 57 ARG AT dsT & | \

() SEEAT I & wqTas feafa

Solution : ¥ 5 SH®AT TS & 96 L& | S SO, T, forai i saressr Sbr
qHETE Icq+ & (&l & | GifHd §6T9T 9% 919 9§ &l & | S96elT e & fau
TRE™ eI, STERTEHRdT Y f3refT 9% 61 39T S vaa 7 | T Sqiad faame sva

BT

ST e T e T A e R |

‘ TRE =TS 19T &Y AT &r &g & | \

24




(F) Ui ATTERor

Solution : ISR 1T (BT & T FEATT & | ITHRT ST 1886 H HIET (3L L&)
T EAT | ITehl THATAT H T, AT ST A Ufqarieed STt & g7 faaeor
T AT, “HThd” Y “SIETY T ITh T Fiaai & | S| @SErer fEar
& FTT TV a1 (BT grifgcg & 7% fTmrar |

T ST &7 Ffqar TG 3T ST &7 I3 & |

‘ FTIET9oT I &7 AT e TSI Ja=T & T qUd & | \

[

Q12. Frafefad wreat &1 dfv-fa=g fifeTy i 95T fade 3T |
(i) Ivoaer T EfT-fa=8T ¥ -

(37) ST + STeT
@) J +S59T
() SY + 59T
(@) Fd + ST

Correct Answer: () +

Solution : “ITaed” Iex “IV” (AT T “TqA” (XA (AT EAT) T AT & | T&T faar g
gy, o “Ivsae” ST T AT E |

I — FHF T THRET, SITHAT |

“Ieeaer” | faaT @ & |1 918 T — “IT + 9 = JodA” |

(ii) ‘F=AT FT Eir-fa=s g -

G AT +HT
@) gfeq + 4T
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(F) | + 49T
(@) 9T+ dT

Correct Answer: () +

Solution : “T=AT” ¥ex “He” AT “IT” T (AR T & | TH I &1 g1 § | §oar &r
T fRT I T F I FTIET R |

T — "hgarer (e = O & e & a99)

‘ “FeT” = T + 9T (JU S &I I8 | \

(iii) ‘HFEe AT G €T -

() HET
(@) HFT
() e
(@) HET

Correct Answer: (31) + =

Solution : “FEq” =F: + 9 | Fg AT afw FrIeEeor g | 9|1« F IR T AT H
“FIEQ ETIAAT ] | THERT TT & RIS |

I — T U At AT T |

‘ “&: + o = fEq (@Erafa) | \

Q12. Feafafad # & fF€T s wrex &1 favg &va 39 G0 & A1 faf|w |
(1) EIL:
(i1) ATEIH
(iii) AT :

Solution :
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(i) FVER: fTE - F97: ST = FVER: | I8 ITHM ST FTHIT 7 |

AT ¥ — ITH ITHT (T q919)

(i) SIET [E — T[T : S0 T8 T2 = FEIH | F&T [q9ryor o0 faursr argaa § |
U UE - OIS 9979

(iii) TS [T - T AF: =T | TRT T iR ar AT ge e |

AT 9 — TSI acgeY a9

HATH TR & &0 &l & — T8 (978 e, fwe 3 ar-ar faafe g gs
T

Q13 (&). Fafefaa 7 & (e U& 9rsg & 9Tq Ud (0T &l AT &L S0 — (i) R qaq
(i) F9IT  (iii) T :

Solution :

(i) AT — 91T “F” + F (THT) = HIGAH | 3T — AT TEGT ®lA |

(i) FIT — 9T “F” (FIAT) + T (T = F9T | 37 — TAT AT |

(ili)) o= — HITq “TMH (STET) + TA T (TLFT) =TT |3T%i‘—w1§Tw1|-1| 3= %/\ru-ﬂ

I |

TaT ISTEL0T — I + T8 q = T od

‘ T & 99 0T S[SaT & al 399 T4 quT 97e% &7 FHT0r &ar & | \

Q13 @). Feafafaa & & fet s wre F oo f@few - (i) Terear (i) #EF (i)
TYT:

Solution :
(i) TETAT — 9Tq T + Sl (TeH) = [aIcdT | 3 — TET Fleh |
(if) I - 91T “F” + T (CIT) =FEA | 3T —FH I |
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(iii) TR s — 9T “TI + T (WD) = 9T | 30 — o s I ar |

IRTELIT — T + U = 91 :

‘ HEhd Yol § I3ead S & 39T 31 fauy = & e grsmar e | \

Q13 (). v&ifdha Tai H & frdT Ta 12 & g [T auT a1 o #r3ga sifa

(G Er T | T e g T fAf 1 Afre A i 3 e
gt~ |

Solution :

(i) 97 T9qfT | “Fwr wrex AT fafe (@@ae) § 7 | o - sgeameiaaEr -
FAT AT FH & (AT Laqrar faafdm gar s |

F7 = gfaaraT fafw, #97 aa

(ii) T forafar | “arfomT” sres garaT fanrfe (Taas) & 8 | e — weor o g

— (=& 1 S 14T 7, 39 e garar faate |

qTIUMET = FeraT fanifa, #3or fra

(iii) TEITE TEATHT T~ | “TITA” ITex TGHT favte (Tdha=) T & | FEe - erameer 79+
— &l & T &14T &, 39 [0 T4 T faaf |

T&Tq = 94T fvfa, stame™ &

‘ foife Te=T & [T 89T 92 & G (ST TaiY) 31 S9&T did a9 | \

Q14. (F) FATATIE qcal & AW & & H AT HeA il AT i T 5T T
AT &I T AT 7q7 [T |

Solution (&) : Tfer& &I AT Iq€
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feae

aT fee 2o,

(T &1 A1)

fawTr : sEmToTE acat & faeg FEaEr aq T |

e & [ g9 e & 375, ST aodi T SAAT-SHT §¢ AT & | 377 0T &7qe &
I A AWT e BT & | T AT & STST-RETE &3 & A I Wi & & | I 987y
TEd 3T FEH T IS0 U ar ferfa AT ar a@ar 1 |

AT: AIH (G HT ST & [ AT qohred 79 9810 317 AT 9% &SI RTATEr &7,
e e § wrifa a1 & |

ST
(AT )
(Fdm)

g T &Y &l T 3T eaT 8 I &l forar mar g |

‘ T foraa g8 fawr =77 Fae =12 7 g9fer foa=r 9risu | \

OR

() FET H TIH B O S T AT AT & 91 & 50 I foAfam
Solution (E'):ﬁﬁ'[fﬁﬂ'ﬂ'li‘w

T THEATY |

TR HUTH TIH S T T Rl G T I HAAq 8Y 594 | T8 TheTdT 71
FET HETd AT AT RTIRUTT & | F=7 9T far=e & fam wifgsy & 37 g o &1 3w/ oo
ATRY ST ATAT-TIaT ST TEAT T AT L9 HAAT |

I €7 § AT ST § o e AT T ST aRerdr O A | UE a6 ETied
TYTS |

T 99T [Ha?
(1)
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T8 Ia7 [AaY & GheAdr I8 T9T & & (A0 [e@r =T e |

‘ THTE TqY H9 G0, SH I AT IR R HTIT H (=T ST J1fR v | \
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